1MTHR = E/KE - TKE -
BEEEHEK

48 #HHADRR

(BEEE
HRAEER ZHE M
(m) S | R | Z Dt
ok 20 53,077 2,274 2,077 197
oK 21 53,010 2,254 2,059 195
Ok 22 53,010 2,223 2,034 189
O 23 53,010 2,125 1,958 167
ok 24 53,010 2,039 1,875 164
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(BEEE)
BEKEER| HKPFH |TERRER| HKkAD | ERER | FHAKE | #HAKIE
(m) AR (a) (b) (b a) (m®) (FM)
TR 20| 548,858 18,470 70,376 56,182 798 6,117,173 1,518,150
O 21 553,435 18,736 70,138 57,187 815 6,007,747  1497,196
TRy 22| 555303 18,679 69,749 56,870 815 6,067,373 1,502,694
R 23| 556,994 19,085 69,223 57,749 834 5847443 1421096
Rt 24| 558357 19,133 68,725 57,582 838 5809837 1424688
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50 TKHEDIKR
(BEES
WX [MEBRIEANTHRREN|LERERN| FAAD | TRE% |KELEW LEKE
15 (ha) F# ABQ(a) | AB(b) (c) (b a) (c/b) | (m38)
F L 20 156.3 1,977 69,226 5,454 3,213 7.9 58.9 1,134
ok 21 165.2 2,162 68,955 5,844 3,375 8.5 57.8 1,203
F ok 22 167.6 2,185 68,617 5,872 3,470 8.6 59.1 1,263
F ok 23 1845 2,687 68,169 6,391 3,581 9.4 56 1,317
ok 24 187.8 2,689 68,725 6,413 3,682 9.3 57.4 1,409
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MAR = EKE - TKE -

EESZEHK
51 BRERZEHKORR
(BEES
nEXRE | LEREA | LERERA EARAAO ERE IR E
E#& (ha) F# AO(a) (b) (b a) (m®/H)
OB 20 48 558 2,157 1,501 69.6 536
OB 21 48 568 2,163 1,511 69.9 594
o 22 48 588 2,189 1,542 70.4 657
Eop 23 48 597 2,218 1,557 70.2 779
R 24 48 608 2,238 1,546 69.1 1M
(B18)
T 4 5 X 30 409 1,528 1,083 70.9 653
ZEHH R 18 199 710 463 65.2 118
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